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a=3
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>>a=3
a=
3
>> ph=5
b=
5
>> c=a+b
c=
8
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Symbol Operation Matlab form
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+ el A+B
- S A-B




MATLAB - el (& dadaly ) cilalaad)( 45 ol o) ciliban)
1
o Y-
2
sl I ad
3
4
cgohlls aeadl
CARY) e e ggiad A Gaadl (Il (e Azl ) cllead) Guaad 1- ddaad
Ex:->>(3+22)*(15.7- 8)
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ans=
192.5
Ex:-
>>3+22*15.7- 8
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>> a=4+5
a=
9
>> a=4+5;
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>> 0 summation process
>> a=4+5
a=
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Predefined Variable Stands For
pi o =3.1416
Inf oo = Infinity
I alT et a Flamber
i The complex varnable -1
1 The complex wariabkle -1
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EX:6 13 + 5+ 5(9)
>>6%(10/13)+18/(5%7)+5%9"2 JSadl gy Wl Luss
Ans=
410.1297



Ex:2x + 5(y)? + 3
>>2%(x)+5%(y"2) + 3 JSadl gy oWlodl wuss



